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


 

      

  

 

 

QBASIC  

 1) 5 
 2) true 

 

        

 – 

 – 

 –TCP/IP 

 – 

 – 

     

 – 

 – 

 – 

  

 – 
 

         

  

   

 
 
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 

   

 –(Data Mining)  

 –(Discussion Groups)  

 –(Help Desks)   

 –(Simulation) 
 

 

  

  

      

     

QBASIC      

 –(– 6.35) 

PRINT Cint(– 6.35) 

 –(A)A(6)zero 

IF A = 0 THEN PRINT A + 6 ELSE PRINT "zero" 

 –K8(N) 

Let N = K \ 8  

 –(AG)(X) 

AG < > SQR(ABS(X)) 

 

  

 –  – 

 –  – 

 

 – 

 – 
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     

  – – – 
 

    

(3) (2) (1) 
– 3 –3  – 5    

(4) (5) (6) 
4 
7 

6   1 0 

 

QBASIC      

 –     

1
4)30sin(3 2






X
XY  

(1) 
INPUT X 
Y = (3 * X ^ 2 * SIN(30 * 3.14 / 180) + 4) / SQR(ABS(X – 1)) 
PRINT Y 

 –  

...80402010   
(2) 

FOR N = 9 TO 0 STEP – 1  
  PRINT 10 * 2 ^ N ; 
NEXT N 

 

 – 

  2 \n  

(3) 
SUM = 0 
FOR K = 1 TO 50 
  INPUT N 
  IF N / 2 <> N \ 2 THEN SUM = SUM + N mod 7 
Next K 
Print SUM 

 
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 –(n1 , n2)(n1)(n2)(n1) 

         ABS 

(4) 
INPUT n1 , n2 
IF n1 <> abs(n1) Then Print n2 ^ 3 , abs(n1) 

 

QBASIC         

 

QBASIC      

 – > B OR C < D A 

 – INPUT X$ 

 – REM  QBASIC    

 –X ^ (0.5) SQR(X) 

          

 –(B2B) 

  

 – 

  

  

 – 

  

 

       

 – 

 – 

 – 

  

 
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          

  

  

  

  

  

  
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(2) 
END 
PRINT REMA 
LET D3 = R 
N$ = "5" 
CLS 

(1) 
IF X = 1 THEN 
  PRINT X 
ELSE 
  PRINT Y 
End IF 

(4) 
IF A$ = B$ THEN 
 REM 50 
ELSE 
Print 10 
END  
END if  

(3) 
FOR K = 2 TO N STEP 1 
  PRINT – CINT(K) 
  END 
NEXT K 

 


